UEERR

L
fic
3
&
g

D——nd

p=

=

A10339 | B5iR/\—K3L/SVF

SGPER DBAIRMBIAL/ N> Ko 3nmT Lft,
OAHMNATIIIREMTER Z BREICER T MR IEH EEA,
OEREMDH - &L LT,

@mEI—F A10339 BHiR/N— K3IZ/NV K BT (mm)

PAZX | B B | FOR | canmmpys TR b A%
0010 15A Ya 21.7 20 25 | M6x20 | 45 | 20 6
0024 20A % 271.2 20| 25 | M 6x20 | 45 | 20 | 6
0039 25A 1 34.0 20 25 | M 6%X20 | 45 | 20 6
0043 32A 1V 42.7 20 | 25 | M 6%X20 | 45 | 20 6
0058 40A 1% 48.6 20| 25 | M 6%X20 | 45 | 20 6
0062 50A 2 60.5 20| 25 | M 6x20 | 45 | 20 | 6
0077 65A 2% 76.3 26 | 25 | M 6x20 | 45 | 20 6
0081 80A 3 89.1 26 | 25 | M 6x20 | 45 | 20 | 6
0096 100A 4 114.3 26 | 25 | M 6x20 | 45 | 20 6
0109 125A 5 139.8 45| 32 | M10x30 | 55 | 27 | 8
0113 150A 6 165.2 45| 32 | M10X30 | 55 | 27 8

Y ——)-

A10358 | A7V BHIRIL/ S K3 t T A1

SGPE A OBAIRFHEIL/ N> Ko 3mmT AfTo
OKHBMDATIIIRENZER % M ICEB T 3R IEH N £ A,
@SUS304%L,

@mEI—F A10358 X7 BhiRIL/N> F3t T LS B4 (mm)
PAX | & B | OB | o pmpr s #FRIL b A
Aok | B | e |EREAE | v | C g EX | D | P | F |
0015 | 154 | % 217 20| 25 | M6x20 | 45 | 20 | 6
0020 | 20A | % 272 | 20| 25 | M6x20 | 45 | 20 | 6
0034 | 254 | 1 340 | 20|25 | M6x20 | 45 | 20 | 6
0049 | 32A | 1% 427 | 20| 25 | M6x20 | 45 | 20 | 6
0053 | 40A | 1% 486 | 20| 25 | M6x20 | 45 | 20 | 6
0068 | 50A | 2 60.5 | 20|25 | M6x20 | 45 | 20 | 6
0072 65A 2% 76.3 231 25 | M6%X20 | 45 | 20 6
0087 | 80A | 3 891 | 23|25 | M6x20 | 45 | 20 | 6
0091 | 100A | 2 1143 |23 | 25 | M 6x20 | 45 | 20 | 6
0104 125A 5 139.8 30| 32 | M10x35 | 55 | 27 8
0119 150A 6 165.2 30| 32 | M10x35 | 55 | 27 8




